22 =24 ]=(x-[)?

® 3 @ 4 ® 5

@ 2

(x—1)2

‘ X2 -2x+1




2. ¥*-7x-8 E QJASES|SHH?

O @+1)E+8) @ (x-1)x-8) @r+1)(x-8)
@ (x—1)(x+38) ® (x—2)(x—4)

‘ ¥ -Tx-8=(x+1)(x-28)
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AAztgol 8 W7t Qle. o] ERER shite] AAtEe BE o,
7h Zojot A2 Polo] A2 Fahw?
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FAAOa00
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A
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7 7/ 7 7/ 7/ 1 1
oA 1 1O
\ \ \ \ \
— = 1
Nk

@ 2 @ 2E= ® 4

@ ® s

X2+ 9x+8=(x+1)(x+38)
C(x4+8)-(x+1)=7




& % 8ay - 4y 9] A47} obd AL

@ xy(2x-1) @ 4x ® 4y
@ x(2x-1) @y(2x +1)

8x2%y — 4xy = 4xy(2x — 1)




Sf&Al o]-§5ke] 132 - 122 = 13+ 12 2 A{tst3int. of of,

® a®+ 2ab+ b* = (a + b)?
@ a*-2ab+b* = (a-b)*
@)a?-b* = (a+b)(a-b)
@ xX*+(a+b)x+ab= (x+a)(x+b)

® acx?® + (ad + bc)x + bd = (ax + b)(cx + d)

132 -122 = (134 12)(13-12) = 134+ 12 =25
webA] o] g8 FALL o - b? = (a+ b)(a—b) °IFh.




6. 9a®-16b> = -12 0|2 3a—4b =4 & W}, 3a + 4b ] 7S FotH?

@ 2 @ 3 ®@-2 @-3 0©-

(3a + 4b)(3a — 4b) = —12
So3a+4b = -3




7.

T B7] % @(x—y) + 2ab(y - x) O AHE BE 12 ALY
=
@ a(y+x) © a(x-y)(a-b)
© ala-2b) ® x(a-2b)
® x-y ® (x-y)(a-2b)
® 9.6 @ 060 ® ©60
@eeo 6 ©0.0

a*(x =y) + 2ab(y - x) = a*(x = y) - 2ab(x - y)
= a(x - y)(a - 2b)




2 Z 27ax? — 12ay? & HF27]| Q1423 g 7

©9
pis AT

O (3ax - 3y)? @ 32?(3ax - 4ay)?

® 3a(3%ax — 4ay)? (@)3(1(3)6 + 2y)(3x = 2y)
® 3(9ax? - 4ay?)

27ax? — 12ay® = 3a(9x — 4y?)
= 3a(3x + 2y)(3x — 2y)




9. =T At urEA 2 A7

@ 4a® - 2ab = 2a(a - b)

@ x? +20x— 100 = (x + 10)?
@ —x*+1=(x+1)(-x-1)

@ x?-Tx+12=(x-2)(x-6)

(@)wx2 +23x-21=(x+3)(10x-7)

B

@ 4a® - 2ab = 2a(2a - b)

@ x? +20x - 100 = (x — 10)?
®@-x+1=—-(x+1)(x-1)
@ x?-Tx+12=(x-3)(x—4)




10.

A X2 —4x+372x2-3x-9 9

@ 2x+3 @ 2x+1

@ x-5 @x—S

¥ -4dx+3=(x-3)(x-1)
2x2 -3x-9=(2x+3) (x-3)




11.

o] 2x% —xy—Ay? o] x—-2y & 152 7H o, th3 5 o] o4 9]
Ar=? (B A=4)

@ 2x-3y @ 2x-y @ 2x+y
@Qx—i—Sy ® 2x+ 5y

B \

2x2 — xy — Ay? = (x — 2y)(2x + my)
=2x2 + (m — 4)xy — 2my?

-A+m=-1,m=3

“A=-2m,A=6

o 2x% — xy — Ay? = (x - 2y)(2x + 3y)




120 x(x+1)(x+2)(x+3)+1 = U423l sh= 2dolet. () gtoll S0
Alo] 4] 92 A0

x(x+1D)x+2)(x+3)+1
=x(@O)x (x+1)(@)+1
=(x*+3x)(®) +1

(@) =Ag}sHH

A2 42A4+1=(A+1)2=(®)?

@ x+3 @ x+2 ® x24+3x+2
@x2+3 ® x2+3x+1

@ x2 + 3x




13.

x=-3+ Vb & ], x* 4+ 6x+9 O F& FoHH?

x24+6x+9=(x+3)2=(-3+V5+3)2=5




14, y<x<0d, /a2 = 2xy+y7+ /o7 + 22y +y2 2 3] 57

@ o @ 2x-2y ® 2x

@ 2y @—2y

VE=)2+ /(x+y)? =lx—-yl+ Ix+)yl
=x-y=(x+y)=-2




15. o5 AelA A+ B+ C 9] 32?
(x+A) (Bx+3) =2x2+Cx—12

O -14 @ 0 ®7 @ 14

B

(x+A) (Bx +3) = 2x? + Cx — 12| 4]
x 9] o]Ate] A7t 20]E8 B=2
AypqFo] 120|122 A = —4

(x—4) (2x +3) = 2x% - 5x — 120]B2
C=-5

L AFEBEC=-412-5=-7




16.

AAZEG o] Yolrt (a+ b)(a + b + 1) - 30 011, 7k2 9] Zo|7}
(a+b+6) 2 o, o] HAZG o] o] Zol& F51H?

® 4a+2b+4 @ 4a-2b-2 ® da-4b+2

@a+ab+2  © da+ab-2

B ~
a+b=AZ5H
AA+1)-30=4%2+A-30
= (A+6)(A-5)
=(a+b+6)(a+b-5)
A2 :a+b-5
E8 :20a+b-5+a+b+6)=4a+4b+2 °Jth




@x(x -6)

@ (x-4)(x+2) ® x(x-4)

x-2=1% 2|&stdA
2-2t-8=(t+2)(t-4) = x(x-6)




18.

—

x—2y)(x -2y —4z) - 1272 o] AlF7F1
Bajd off, T A4 9] g2 F5HH?

D 2x-4y+4z @)2x — 4y — 4z

@ 2x+4y+4z ® dx-2y—4z

Q5 Ao Foz

® 2x-4y+3z

B

x—2y=A¢=sHH
A(A— 42) - 122 = A~ 4Az — 122
= (A-62)(A+22)

= (x—2y—62)(x -2y +22)
L (x-2y-62)+ (x—2y+27) =2x -4y — 42




19. 2 =20y -1+ & AR afeta?

@(x—y—l-l)(x—y—l) @ (x+y+1)(x+y_1>
@ (x-—y+1)(x+y-1) @ (x—y-1D(x+y-1)

® (x+y+1)(x-—y-1)




20. T 30— 19 A47hobd AL

® x-1 ® x2-1 @ #-1

@)x° -1 ® #-1
@




